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Q Wh A1
47013 10007 "" 1 Bol W, %y
47018 10°00[Z=Zwl obKMY 2b Bk p
57011 10°00°| " XxT | <1, b2uy.
57023 10°00 | Z®wi wbhKMY 2b hKkp

6 Q8 10°00° 1 by qV

6 Q20 10°00 (L =Zmi @b KMY 2b Bk p

7 Q6 10007 " 1 Bol W, %y
77019 10°00 [C=Zwl whKMY 2b Pk p
87010 10°00°| " xT 1 <1, bouy.
8022 10°00[Z=Znl obKMY 2b Bk p

9 Q7 10°00° ] by qV
9°Q20 10°00 [Z=Zwl whKMY 2b Bk p
107Q12 10007 """ 1 3b[ W, %V
107024 10°00 | Zwi wbKMY 2b hKkp
11709 10007 " xT 1 <1l . b2uy.
117021 10°00 [C=Zwl whKMY 2D BKp
127Q7 10°00° ] by qV
127019 10°00 [C=Zwl whKMY 2b PKp
17011 10°00°| "™ 1 Bol W, %y
17023 10°00[Z=Znl obKMY 2b Bk p

208 10°00°| " xT | <1, b2uy,
2020 10°00 | Zwi wbKMY 2b hKkp

3708 10°00° 1 by qV
37020 10°00 L Zwi wbKMY 2b hKp
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0 “H Wh A

4°Q25 Ko H» 14°00 [C=Zwl ohKMY 2b Bk p
47021 &' 4 9°00 [CzZwl obKMy 1bENH. [O4
5030 Q H?° 14°00 [Z=Z0l wbKMY 2b Pk p

) ‘ ° 13°00° 5b,
6Q17 Y |
H° 15°00° 4> qV

77025 0 Ho 14°00 [Z=Z®l obKMY 2b Bk p
8'Q29 ko) E 14°00 [Z=Zml obKMY 2b Bk p
97026 Ko H? 14°00 [Z=Zwl whKMY 2b hk p
107031 0 H2 14°00 |Z=Zol @bhKMY 2D hKk p
117028 Ko H? 14°00 [Z=Zwl whKMY 2b hk p
127019 0 H2 14°00 |Z=Zol @bhKMY 2b Bk p
130 Ko H? 14°00 [C=Zwl ohKMY 2b Bk p
2027 0 H2 14°00 |Z=Zwi @bhKMY 2b Bk p
3027 ko) H? 14°00 [C=Zwl ohKMY 2b Bk p
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